Comparision of item pricing received for lifeguard uniforms & equipment.

	Item 1	Item 2	Item 3	Item 4	Item 5	Item 6	Item 7
	Speedo Female Lifeguard Suit Solid Endurance Flyback – polyster blend (Navy w/guard logo)	Speedo Lifeguard 20" Zuma Trunk Red	Speedo Lifeguard Female Board Short (Navy w/guard logo)	Seal Easy Kit w/valve	Fox 40 Whistle w/mouth guard	Break-away Lanyard	Fanny Packs
QUANTITY	109	90	31	100	200	200	175
Adoph Kieffer & Associates (847) 872 - 8866	\$43.39	\$32.19	\$22.39	\$8.45	\$3.20	Not Available	Not Available
Kiefer #'s	7190104	7320071	7090034	673400	\$3.20		
Total	\$4,729.51	\$2,897.10	\$694.09	\$845.00	\$640.00		
The Lifeguard Store (800) 846 - 7052)	\$31.75	\$22.50	\$14.25	\$5.95	\$2.95	\$1.25	\$4.45
LG Store #'s	#7190104N32	#7320071RS	#7090034NW02	#342020	#178	#180BA	LGHPR
Total	\$3,460.75	\$2,025.00	\$441.75	\$595.00	\$590.00	\$250.00	\$778.75
Recreonics (800) 428 - 3254)	Not Available	\$25.00	\$13.18	\$7.07	Not Available	\$2.84	\$6.60
Item #		98-807	98-339	#12-441		#12-362	#12-219
Total		\$2,250.00	\$408.58	\$707.00		\$568.00	\$1,155.00
Lincoln (800) 223-5450	\$32.94	Not Available	\$13.25	\$7.25	\$4.15	\$1.00	N. 4 A . 7.11
Item #	41-000		41-000	#48-035	#43-051	#43-070	Not Available
Total	\$3,590.46		\$410.75	\$725.00	\$830.00	\$200.00	
				·	·	·	
Water Safety Products (800) 987 - 7238	Not Available	Not Available	Not Available	\$5.75	\$3.40	\$1.75	5.75
Item #				170	601W-MG	403	206HLS
Total				\$575.00	\$680.00	\$350.00	\$1,006.25
All American America (000) 040			1	I		1	
All American Aquatics (800) 910- 7946	\$43.00	\$29.95	\$14.50	Not Available	\$4.50	\$2.00	\$13.25
ltem #	#7190104	#7320071	#7090034		M40-BK	MISC	MISC
Total	\$4,687.00	\$2,695.50	\$449.50		\$900.00	\$400.00	\$2,318.75
			1	Т		1	
eLifeguard.com (800) 852-0284	Not Available	Not Available	Not Available	\$6.89	\$3.25	\$0.88	\$5.24
Item #				106	264	68	35
Total				\$689.00	\$650.00	\$176.00	\$917.00

2012 Lifeguard Uniform/Equipment Purchase Summary

	Quantity Order	The Lifequard Store		Recreonics	
		Item Price	Total Price	Item Price	Total Priace
Speedo Female Lifeguard Suit Solid Flyback poly blend Navy w/guard logo	109	\$31.75	\$3,460.75		
Speedo Lifeguard Zuma Trunk Navy	90	\$22.50	\$2,025.00		
Female Board Short Navy	31			\$13.18	\$408.58
Seal Easy Kit w/valve	100	\$5.95	\$595.00		
Fox 40 Classis Cushioned Mouth Grip Whistle	200	\$2.95	\$590.00		
Break-away Lanyards	200	\$1.25	\$250.00		
Hip Packs	175	\$4.45	\$778.75		
		SHIPPING	\$75.00	SHIPPING	INCLUDED
		Total Purchase	\$7,774.50	Total Purchase	\$408.58

Total of All \$8,183.08

Village of Orland Park Recreation Parks Department

Village of Orland Park Recreation Parks Department